STOP BLOCKS GLOBAL STANDARD CDM
INDEX ™ NAAMS A

Assembly 04/07/15
PAGE DATE NAAMS CODE DESCRIPTION
L-1 05/25/12 Stop Blocks Index
L-2 05/25/12 ASCO018 — ASC091  Stop Blocks Crowned
L-3 05/25/12 ASF018 — ASF091 Stop Blocks Flat
L-4 04/07/15 ASF001 Stop Block Flat
L-5 04/07/15 ASF002 Stop Block Flat

©1997 Auto/Steel Partnership This document is Uncontrolled when printed. L-1



STOP BLOCKS RIA RRBES

NN A8k i52.
Assembly 05/25/12

Tolerances: METRIC
1 PLACE +0.3
2 PLACE +0.03
Identify with NAAMS CODE number as shown XXX.
Black Oxide Finish.
MATERIAL: STEEL SAE 1060 — Flame Harden Cross-Hatched
Surface 3.0 DEEP MIN. Rc 55-60.

SEE PAGE B-1.1 FOR GLOBAL MATERIALS CHART

+0.5

~+— 25.00—™ L
A (2) HOLES
—=1 8. —=— CENT.|=—
0 gy e
) ROWN N \Q
—
l_ _ \ \/ N
L 30_010.13 K/ \
N\
50.0
XXX

* |
RV

NAAMS L A

CODE

ASC018 20 Drill & C/Bore for M8 Soc Hd Scr
ASC019 20 M8 x 1.25

ASC020 25 Drill & C/Bore for M10 Soc Hd Scr
ASCO021 25 M10 x 1.5

ASC060 60 Drill & C/Bore for M10 Soc Hd Scr
ASCO061 60 M10 x 1.5

ASC090 90 Drill & C/Bore for M10 Soc Hd Scr
ASC091 90 M10 x 1.5

©1997 Auto/Steel Partnership This document is Uncontrolled when printed. L-2



GLOBAL STANDARD COMPONENTS
STOREAT®  .NAAMS 3
FLAT ™ A ennns
Assembly 05/25/12
Tolerances: METRIC
1 PLACE +0.3
2 PLACE +0.03
Identify with NAAMS CODE number as shown XXX.
Black Oxide Finish. A
MATERIAL: STEEL SAE 1060 — Flame Harden Cross-Hatched
Surface 3.0 DEEP MIN. Rc 55-60. C
SEE PAGE B-1.1 FOR GLOBAL MATERIALS CHART
—# CENT. r=—
2) HOLES
—=110.0 F /- A()
\
_ N
- VQ
\ \ [ N
- — — — —d 300 013 K/ \
50.0 \
XXX E
o E 10.0
AN START
NAAMS
CODE L A
ASF018 20 Drill & C/Bore for M8 Soc Hd Scr
ASF019 20 M8 x 1.25 D
ASF020 25 Drill & C/Bore for M10 Soc Hd Scr
ASF021 25 M10 x 1.5
ASF060 60 Drill & C/Bore for M10 Soc Hd Scr
ASF061 60 M10 x 1.5
ASF090 90 Drill & C/Bore for M10 Soc Hd Scr
ASF091 a0 M10x 1.5
©1997 Auto/Steel Partnership This document is Uncontrolled when printed. L-3



GLOBAL STANDARD CDMPONENTS

STOP BLOCK NAAMS 5%

FLAT ASF001

Assembly 04/07/15

Tolerances: METRIC
1 PLACE +0.3
2 PLACE +0.03
Identify with NAAMS CODE number as shown XXX.
Black Oxide Finish.
MATERIAL: STEEL SAE 1060 — Flame Harden the surface to the “Far Side” of Cross-Hatched
Surface 3.0 DEEP MIN. Rc 55-60 as noted

SEE PAGE B-1.1 FOR GLOBAL MATERIALS CHART

s 76.0 -
HARDEN
FAR SIDE
ONLY 8 8
= = M8 X 1.25 TAP 19 DEEP
(4)
| == =
= — — 285 20.00
START
<
—_— = — @ 57.0
>
A= = =] 20.00
L — — Y
—== 2600 |--— 38.0
-— 380 = 42.0 DRILL THRU

©1997 Auto/Steel Partnership  www.naamsstandards.org This document is Uncontrolled when printed. L-4




GLOBAL STANDARD CDMPONENTS

STOP BLOCK NAAMS .

FLAT ASF002

Assembly 04/07/15
Tolerances: METRIC
1 PLACE +0.3
2 PLACE +0.03
Identify with NAAMS CODE number as shown XXX.
Black Oxide Finish.
MATERIAL: STEEL SAE 1060 — Flame Harden Cross-Hatched
Surface 3.0 DEEP MIN. Rc 55-60. (Near-Side Only)
SEE PAGE B-1.1 FOR GLOBAL MATERIALS CHART
d 90.0 -
% % DRILL & C'BORE FOR M8 SHCS
] =] /  TODEPTH SHOWN
= 2 )
’ A
L T
i | N 350 20.00 +0.13
] START
X 70.0
-1 X
>
[ _|_ ] 20.00 +0.13
—_—t =t =
i - ANRGN
| N Y
J 140 [w=— lt—45.0 START —= \—42.0 DRILL THRU
—= 2600 [--— (2

©1997 Auto/Steel Partnership  www.naamsstandards.org This document is Uncontrolled when printed. L-5



